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Warm-Up
AVL condition: For every node, the height of its left subtree and 
right subtree differ by at most 1. 
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Left Rotation
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Rest of 
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Right subtree is 2 longer
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BALANCED
Subtrees are equal heights

Insertion 
here

Four Types of Rotations
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SolutionInsert location 
(relative to lowest 
imbalanced node)

Single right rotationLeft subtree of left 
child (A)

Double (left-right) rotationRight subtree of 
left child (B)

Double (right-left) rotationLeft subtree of 
right child (C)

Single left rotationRight subtree of 
right child(D)
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